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1p 5 De inhoud van alinea 4 staat hieronder, maar niet in de juiste volgorde.  
 Noteer de letters van de delen in de juiste volgorde in de 

uitwerkbijlage. 
 
[a] At least that’s the theory. “It takes a mouse sixty seconds to gnaw 
through insulating foam,” says Hoffmans. “They leave scent marks behind 
wherever they go, so it’s potentially an open invitation to hundreds of 
other mice. A bit of foam isn’t going to keep them away.” 
 
[b] Hoffmans recommends good old-fashioned steel wool. “Mice try to 
gnaw through it, but they don’t like it because it cuts their gums. They’ll try 
again the following night, and then they’ll give up and go to your 
neighbours’ place instead.” 
 
[c] Some say the best way to get rid of mice is to stop them entering in 
the first place, by sealing cracks and other gaps with insulating foam.  
 
 

2p 6 In alinea 5 zijn vier woordgroepen weggelaten.  
 Bepaal voor 6-1, 6-2, 6-3 en 6-4 welke woordgroep daar het best past. 
Noteer de letter van de woordgroep achter elk nummer in de 
uitwerkbijlage. 
 
Let op: er blijft één woordgroep over. 
Kies uit: 
a a fitted kitchen 
b domesticated varieties  
c hard plastic containers 
d other appliances 
e that bowl for the dog on the floor 
 
 

Tekst 4  How Jamaican bobsledders train for the Olympics 
 

2p 7 ‘the inspiration for outside-the-box training came from a classic sports  
movie’ (paragraph 1)  
 Welke twee oplossingen hebben de Jamaicaanse bobsleeërs 

gevonden om te kunnen sporten volgens alinea 1 en 2? 
Geef antwoord in het Nederlands. 
 

1p 8 What becomes clear about the two athletes from paragraph 3? 
A They chose a training tool comparable to the real thing.  
B They have a history of wrecking their training materials. 
C They have borrowed some training equipment before.  
D They should ask their employer’s permission to compete. 
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1p 9 ‘“We do get some funny looks”’ (paragraph 4)  
Why is that?  
A People are not used to seeing famous athletes training in public.  
B People do not realise that pushing a Mini is part of their training.  
C The Mini Cooper draws attention because it looks quite battered.  
D The two athletes are clearly too big to fit comfortably in a Mini. 
 

1p 10 What is said about the 1988 Jamaican bobsledders in paragraph 5?  
A They failed at the Olympics but a film was made about their efforts to 

compete. 
B They managed to turn bobsleighing into the most popular sport of 

Jamaica. 
C They were so fast that breaking their record will become extremely 

difficult. 
 

1p 11 Kies bij    11    in alinea 6 het juiste antwoord uit de gegeven 
mogelijkheden. 
A Although 
B Because 
C Since 
 
 

Tekst 5  Bears and wolves to coexist in UK woods for first time 
                    in 1,000 years 

 
1p 12 What becomes clear about the Wild Place Project in paragraphs 1 and 2? 

A It aims to improve the living conditions of endangered wildlife that is 
kept in captivity. 

B It has been set up to get native wildlife living together in the same area 
again. 

C It is a breeding programme that aims to prevent the extermination of 
wildlife. 

 
1p 13 What is the aim of paragraph 3? 

A to give a description of the present set-up of the wildlife area 
B to illustrate why animals and people are not supposed to mingle 
C to persuade owners of woodlands to invest in this scheme 
D to stress that the new attraction can handle lots of visitors  
 

1p 14 How can the attitude of Justin Morris (paragraphs 4 to 6) towards the 
project be described best? 
A as mostly surprised 
B as quite confident 
C as rather indifferent 
D as slightly worried 
 
 


